SGT-1411
PINADOR 18/32

6

@ -
e
®
=
=3
3
H
ik
o— &

“
@

Item Codigo Descricao Item Codigo Descricao Item Codigo Descricao
1 0751141101 | Parafuso M5 X 30 24 10751141124 |O'ring1.7X2 47 | 0751141147 | Parafuso M4 X 8
2 0751141102 | Tampa De Exaustao 25 0751141125 | Guia Da Valvula Do Disparo 48 0751141148 | Parafuso M4 X 12
3 10751141103 |0'ring 13.7 X 2.4 26 10751141126 |O'ring 11.2X2 49 0751141149 | Guia (Pc49)
4 0751141104 | Arruela De Vedacao 27 10751141127 |Mola (Pc 27) 50 |0751141150 | Impulsador
5 0751141105 | Junta De Vedacao 28 |0751141128 |Gatilho 51 0751141151 | Magazine Movel
6 10751141106 |Mola (Pc 06) 29 |0751141129 |Pino (Pc 29) 52 10751141152 | Mola (Pc 52)
7 10751141107 | Cabeca Da Valvula 30 |0751141130 |Arruela De Pressao 53 | 0751141153 | Assento Fixo
8 0751141108 | Junta (Pc 08) 31 10751141131 | Parafuso M5 X 20 54 10751141154 | Porca Do Parafuso
9 |0751141109 |0'ring24.8X 3.5 32 |0751141132 |Parafuso M4 X 10 55 | 0751141155 | Capa Emborrachada
10 | 0751141110 |O'ring31.2X 2.5 33 |0751141133 | Parafuso M4 X 6 56 |0751141156 | Junta Da Tampa Traseira
1110751141111 | 0'ring 46.2 X 2.65 34 10751141134 |Magazine Movel 57 | 0751141157 | Tampa Traseira

12 | 0751141112 | Colar (Pc 12) 35 10751141135 |Arruela De Pressao (Pc 35) 58 10751141158 | Parafuso M5 X 16
13 10751141113 |Q'ring21.3X3 36 |0751141136 | Placa Guia 59 10751141159 | Niple

14 10751141114 |Embolo 37 |0751141137 |Parafuso M4 X 14 60 |0751141160 | Placa (Pc 60)

15 10751141115 |0'ring30X 1.8 38 0751141138 |Pino25X5 61 0751141161 | Parafuso Limitador
16 | 0751141116 | Cilindro (Pc 16) 39 10751141139 |Placa Fixadora

17 10751141117 | Amortecedor De Impacto 40 10751141140 |Pino25X10

18 | 0751141118 | Pino Da Mola 41 |0751141141 | Guia (Pc 41)

19 10751141119 |Carcaca 42 |0751141142 | Magazine Fixo

20 | 0751141120 |Arruela Da Borracha 43 |0751141043 |Arruela (Pc 43)

21 10751141121 |Arruela Retangular 44 0751141144 | Assento Fixo

22 |0751141122 | Valvula De Disparo 45 |0751141145 |Mola De Torcao

23 | 0751141123 | Haste Da Valvula De Disparo 46 |0751141146 | Gatilho (Pc 46)

SGT-1411 - VE www.sigmatools.com.br 000




